5.3:  The Effects of Compounding and Interest Rate on Future Value

http://www.mortgage-a.com/mortgage_financial_calculators/calculator.htm
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1. Determine the future value of $1000 earning 5.3% compounded annually for 3 years.  Complete the table below to show the numbers you would enter to find the answer.
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(Ans:1167.58)
2. Determine the future value of the same investment with interest compounded semi-annually. Which 2 numbers will change? Show this in the table below.
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(Ans: 1169.91)
3.  Determine the future value of the same investment with interest compounded quarterly? Which 2 numbers will change? Show this in the table below.
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(Ans: 1171.11)
4. Determine the future value of the same investment with interest compounded monthly.

Which 2 numbers will change? Show this in the table below.
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(Ans: 1171.93)
5. Which compounding method gives you the most money? Annually, semi-annually, quarterly or monthly?

6. Determine the future value of $2500 earning 2% interest compounded annually for 4 years. Complete the table below.
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(Ans: 2706.08) 
TOTAL INTEREST: ___________________

7. Determine the future value of $2500 earning 4% interest compounded annually for 4 years. Which  number(s) will change? Show this in the table below.
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(Ans: 2924.65)
TOTAL INTEREST : ___________________

8. Complete the following statement:  I think that when the interest rate doubles ________________________________________________________________________

________________________________________________________________________
9. Determine the future value of $2500 earning 6% interest compounded annually for 4 years. Which  number(s) will change? Show this in the table below.
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(Ans: 3156.19)
TOTAL INTEREST: ________________________
10. Determine the future value of $2500 earning 8% interest compounded annually for 4 years. Which  number(s) will change? Show this in the table below.
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(Ans: 3401.22)
TOTAL INTEREST: ________________
11. Explain the effect of the interest rate on the future value and the amount of interest earned.

12. Which seems to have a greater effect on future value?  COMOUNDING PERIOD or INTEREST RATE?

13.  Elenica has been saving a portion of her net pay since she started working. She now has $1500 saved up and wants to deposit it in a bank account for 2 years. She has three choices.
CHOICE A:  A Canadian Savings Bong will earn 2.97% simple interest.

(Use the formula : I = P x r x t)


FUTURE VALUE = ___________________________
(Ans:  1589.10)

CHOICE B:  An account earning 2.9% interest compounded monthly.
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FUTURE VALUE = __________________
(Ans: 1589.46)
CHOICE C:  An account earning 2.5% per year compounded daily.
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FUTURE VALUE: __________________________

(Ans: 1576.90)
WHICH SHOULD SHE CHOOSE? ____________________________________________

